



## Comments on “Stability analysis for a class of Takagi–Sugeno fuzzy control systems with PID controllers”

Xiaojun Ban <sup>a,\*</sup>, X.Z. Gao <sup>b</sup>, Xianlin Huang <sup>c</sup>

<sup>a</sup> Center for Control Theory and Guidance Technology, Harbin Institute of Technology, No. 92, West Da-Zhi Street, Harbin, Heilongjiang 150001, PR China

<sup>b</sup> Department of Electrical Engineering, Helsinki University of Technology, Espoo, Finland

<sup>c</sup> Center for Control Theory and Guidance Technology, Harbin Institute of Technology, Harbin, PR China

### ARTICLE INFO

#### Article history:

Received 4 October 2008

Accepted 25 November 2008

Available online 6 December 2008

#### Keywords:

T–S models

Fuzzy control systems

### ABSTRACT

This note points out that some results in the paper (International Journal of Approximate Reasoning 46 (2007) 109–119) are incorrect.

© 2008 Elsevier Inc. All rights reserved.

## 1. Introduction

In the paper [2], a new fuzzy T–S transfer function model is proposed, and the relation between the classical T–S fuzzy model and the proposed model is discussed in Lemma 1, which is cited as follows:

**Lemma 1.** The T–S fuzzy state model (1) (numbered in [2]) with the following Frobenius canonical structure

$$A_i = \begin{bmatrix} 0 & 1 & 0 & \cdots & 0 \\ 0 & 0 & 1 & \cdots & \\ \vdots & \vdots & \vdots & \cdots & \vdots \\ 0 & 0 & 0 & \cdots & 1 \\ -a_0^i & -a_1^i & \cdots & \cdots & -a_{n-1}^i \end{bmatrix}, \quad B_i = \begin{bmatrix} 0 \\ 0 \\ \vdots \\ 0 \\ b_0^i \end{bmatrix}, \quad C = [1 \quad 0 \quad \cdots \quad \cdots \quad 0], \quad (1)$$

where  $A_i \in \mathbb{R}^{n \times n}$ ,  $B_i \in \mathbb{R}^{n \times 1}$ ,  $C \in \mathbb{R}^{1 \times n}$  is equivalent to the T–S fuzzy transfer function model (11) (numbered in [2]) with  $b_j^i = 0$ ,  $i = 1, \dots, r$ ,  $j = 1, \dots, m$ .

The original proof is rewritten as follows.

**Proof.** The overall aggregated model of (11) (numbered in [2]) is

$$P(s) = \frac{\sum_{i=1}^r \alpha_i b^i(s)}{\sum_{i=1}^r \alpha_i a^i(s)} = \frac{Y(s)}{U(s)}. \quad (2)$$

Denoting the following state variables

\* Corresponding author. Tel.: +86 451 86402204.

E-mail addresses: [banxiaojun@hit.edu.cn](mailto:banxiaojun@hit.edu.cn) (X. Ban), [gao@cc.hut.fi](mailto:gao@cc.hut.fi) (X.Z. Gao), [xlinhuang@hit.edu.cn](mailto:xlinhuang@hit.edu.cn) (X. Huang).

$$x_1 = y, x_2 = \dot{y}, \dots, x_n = y^{(n-1)}, \tag{3}$$

we have

$$\dot{x}_n = - \sum_{i=1}^r \alpha_i(x) a_0^i x_1 - \sum_{i=1}^r \alpha_i(x) a_1^i x_2 - \dots - \sum_{i=1}^r \alpha_i(x) a_{n-1}^i x_n + \sum_{i=1}^r \alpha_i(x) b_0^i u. \tag{4}$$

This is the matrix form (5) (numbered in [2]) with the above mentioned matrices  $A_i, B_i, C$  in (16) (numbered in [2]). □

## 2. Discussion

In our opinion, the Lemma 1 is incorrect. As a matter of fact, if  $\alpha_i(\cdot)$  is independent of  $X$ , where  $X = [x_1, x_2, \dots, x_n]^T$ , with all initial conditions being zero, the Laplace Transform [1] of Eq. (4) is of the following form:

$$s^n Y(s) = - \sum_{i=1}^r \alpha_i a_0^i Y(s) - \sum_{i=1}^r \alpha_i a_1^i s Y(s) - \dots - \sum_{i=1}^r \alpha_i a_{n-1}^i s^{n-1} Y(s) + \sum_{i=1}^r \alpha_i b_0^i U(s). \tag{5}$$

With the following assumption

$$\sum_{i=1}^r \alpha_i = 1, \tag{6}$$

Eq. (5) can be recast as

$$\sum_{i=1}^r \alpha_i s^n Y(s) = - \sum_{i=1}^r \alpha_i a_0^i Y(s) - \sum_{i=1}^r \alpha_i a_1^i s Y(s) - \dots - \sum_{i=1}^r \alpha_i a_{n-1}^i s^{n-1} Y(s) + \sum_{i=1}^r \alpha_i b_0^i U(s), \tag{7}$$

$$\sum_{i=1}^r \alpha_i (a_0^i + a_1^i s + \dots + a_{n-1}^i s^{n-1} + s^n) Y(s) = \sum_{i=1}^r \alpha_i b_0^i U(s), \tag{8}$$

$$\sum_{i=1}^r \alpha_i a^i(s) Y(s) = \sum_{i=1}^r \alpha_i b^i(s) U(s), \tag{9}$$

where  $a^i(s) = s^n + a_{n-1}^i s^{n-1} + \dots + a_0^i$ , and  $b^i(s) = b_m^i s^m + \dots + b_1^i s + b_0^i$  with  $b_j^i = 0, i = 1, \dots, r, j = 1, \dots, m$  which is defined in (11) of the paper [2]. Moreover, we obtain

$$\frac{Y(s)}{U(s)} = \frac{\sum_{i=1}^r \alpha_i b^i(s)}{\sum_{i=1}^r \alpha_i a^i(s)}. \tag{10}$$

However, as for the T–S fuzzy model,  $\alpha_i(\cdot)$  is in no way independent of  $X$ , which means (4) is a nonlinear differential equation. In this case, we can not obtain (10) from (4) for the simple reason that in general the following equation does not hold:

$$\mathcal{L}[f_1(t)f_2(t)] = f_1(s)f_2(s), \tag{11}$$

where the symbol ‘ $\mathcal{L}$ ’ represents the Laplace Transform;  $f_1(t)$  and  $f_2(t)$  are two arbitrary functions which are Laplace transformable.

This means that the T–S fuzzy state model (1) (numbered in [2]) with the Frobenius canonical structure as mentioned in Lemma 1 is not equivalent to the T–S fuzzy transfer function model at all. Thus we conclude that the Lemma 1 is incorrect.

## Acknowledgements

This research work was funded by the National Natural Science Foundation of China under Grant 60874084. X.Z. Gao’s research work was also funded by the Academy of Finland under Grant 214144.

## References

[1] J.J. D’azzo, C.H. Houpis, Linear Control System Analysis and Design, fourth ed., McGraw-Hill Companies Inc., 1995, pp. 91–99.  
 [2] Le Hung Lan, Stability analysis for a class of Takagi–Sugeno fuzzy control systems with PID controllers, International Journal of Approximate Reasoning 46 (1) (2007) 109–119.

متن کامل مقاله

دریافت فوری ←

**ISI**Articles

مرجع مقالات تخصصی ایران

- ✓ امکان دانلود نسخه تمام متن مقالات انگلیسی
- ✓ امکان دانلود نسخه ترجمه شده مقالات
- ✓ پذیرش سفارش ترجمه تخصصی
- ✓ امکان جستجو در آرشیو جامعی از صدها موضوع و هزاران مقاله
- ✓ امکان دانلود رایگان ۲ صفحه اول هر مقاله
- ✓ امکان پرداخت اینترنتی با کلیه کارت های عضو شتاب
- ✓ دانلود فوری مقاله پس از پرداخت آنلاین
- ✓ پشتیبانی کامل خرید با بهره مندی از سیستم هوشمند رهگیری سفارشات